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5 Ýþ�m���z

·���knê8 Q Ø��(= Q ¥�Cauchy:��73 Q ¥Âñ). �´knê

8 Q ²*¿�¤���ê8(=¢ê8) R ´���, ¿� Q 3 R ¥È�.

�!, ·�ò`²éu���Ø��Ýþ�m X, Ó��±òÙ“*¿”������

Ýþ�m X̃, ¿��¦cö3�ö¥È�.

½Â1 � (X, d), (Y, ρ) ´ü�Ýþ�m. XJ�3V� T : X → Y ÷v

ρ(Tx1, Tx2) = d(x1, x2), x1, x2 ∈ X, (5.1)

K¡Ýþ�m (X, d) � (Y, ρ) �åÓ�. d�, N� T : X → Y ���åÓ�N�.

3�¼©Û¥, �åÓ��ü�Ýþ�m  Ø\«©, =�±À�Ó�. âd, XJ

Ýþ�m X � Y �åÓ�, K�P� X = Y . ~X, R2 � C ��Ýþ�m´�åÓ�
�, Ï
�±À�Ó�.

½n1 � (X, d) ´��Ýþ�m. K�3��Ýþ�m (X̃, d̃), ¦� X � X̃ �,

�È�f�m W �åÓ�. ¿�ù�� X̃ 3�åÓ�¿Âe�´���.

d?, “X̃ 3�åÓ�¿Âe´���”´�: XJ�k��Ýþ�m (X̂, d̂) ¦� X

� X̂ �,�È�f�m�åÓ�, K (X̃, d̃) � (X̂, d̂) �åÓ�. XJr�åÓ��ü�

Ýþ�mÀ�Ó�, @o½n1�Lã�Xe/ª.

½n2 � (X, d) ´��Ýþ�m. K�3�����Ýþ�m (X̃, d̃), ¦� X ¤�

X̃ ���È�f�m.

5 þã��Ýþ�m (X̃, d̃) ��Ýþ�m (X, d) ���z�m({¡��z).

~: ��Ýþ�m, ¢ê8 R ´knê8 Q ���z; ëY¼ê�m C[a, b] ´õ�

ª�m P [a, b] ���z.


